OFFICE OF THE EXECUTIVE ENGINEER PROVINCIAL BUILDINGS DIVISION SHAHEED BENAZIR ABAD

NOTICE INVITING TENDERS. Ref: No. TC/ G-55/85 Dated: 03 / 02 / 2016

Procuring Agency invited sealed bids on single envelop method from all the interested bidders under SPPRA Rules 2010 for the following works:-

S.#	Name of work	Estimated cost	Time allowed for completion	Cost of bidding documents
1.	Construction of 02-Courts Buildings at Sakrand District Shaheed Benazir Abad. (Main Building)	33.000 (M)	24-Months	3.000/-
2.	M/R to Anti-Terrorist Court Shaheed Benazir Abad. (Civil Work)	1.310 (M)	03-Months	1.000/-
3.	Repair of Renovation of Anti-Terrorist Court District Naushahro Feroze. i) Main Building. ii) Custody Room. iii) Compound Wall & Steel Gate	8.000 (M) 1.700 (M) 2.370 (M)	03-Months 03-Months 03-Months	3.000/- 2.000/- 2.000/-

- 1. The intending participants can submit their applications in the office of the undersigned from the date of Hoisting/Publication of the tenders along-with the below listed documents/requirement for the purpose of issuance of bidding documents of each work separately during office hours upto <u>25-02-2016</u> The amount of earnest 2% shall be received in the shape of pay order / call deposit receipt against <u>each work</u>
- 2. The bids will be received back on <u>26-02-2016</u> upto 1.00 p.m & will be opened on the same day @ 2.00 p.m in presence of Procurement Committee and the bidders or their authorized representatives who wish to be present on the occasion. If the tender remain un-responded or are not accepted then the same will be issued and open on following dates.

Schedule of Un-Responded Bids

 $2^{\text{nd}} = \frac{\text{Date of Issue}}{\text{(Working hours)}}$

Date of Opening $2^{nd} = 15-03-2016$

will be received upto 1.00 p.m and will be Opened on same day @ 2.00 P.M

3. Eligibility/Condition:-

- Documentary evidence of work of equivalent cost or above executed in last 03-years and certificate of satisfactory completion showing date of start and completion from employer.
- ii) List of Work and copy of letter of award of work / work orders of equivalent cost or above.
- iii) List of Machinery and equipment available with documentary proof of its ownership.
- iv) Registration with Income Tax Department (NTN Copy) and Sindh Revenue Board (Sales Tax Registration) and copy of CNIC
- v) Undertaking on Stamp paper that firm is not involve in any litigation. Departmental rift, abandoned or un-necessary delay in completion of any work in the Government Departments and as well as in private organization.
- vi) Certificate of bank showing credit worthiness along with current bank statement
- vii) Affidavit to the effect that firm has not been black listed previously by any executing agency.
- viii) Affidavit to the effect that all documents/particulars / information furnished are true and correct.
- ix) Registration certificate for Pakistan Engineering Council in the relevant field of specialization in relevant category as above of work and to the extent of tender amount for the calendar year 2015.
- x) Bio data of Engineers and Technical staff working with the firm.
- 4. The application shall accompany of cost of bid documents as shown against each for purchase of bidding documents
- 5. The 2% Earnest money shall be submitted in the shape of call deposit issued from scheduled bank at the time of submission of bidding document in favour of undersigned.
- 6. Conditional Tenders will not be entertained.
- Advertisement can be seen on Sindh Government website (www.Sindh.gov.pk) and SPPRA website.
- In case of firm list of partners/partnership deed, given full particulars of Directors/Proprietors or others connected along with power of attorney. In case of being sole proprietor such under taking on affidavit be furnished.
- 9. In case of works costing below Rs.2.50 (M) the condition at S.N.3 will not applicable however all prevalent rules will be applicable
- 10. The Procuring Agency may reject all or any bids subject to the relevant provisions of PPRA Rules.
- 11 No Tender excepted by Post or Courier

EXECUTIVE ENGINEER
PROVINCIAL BUILDINGS DIVISION
SHAHEED BENAZIR ABAD

- Copy (Seven copies) is forwarded to the Director information public Relation Department (Advertisement) Block No.96 Sindh Secretariat Karachi for publication in News paper specially in ENGLISH, URDU AND SINDHI as per orders of worthy Secretary Government of Sindh works & services Department Karachi.
- 2. Copy submitted to the Secretary Information Technology Government of Sindh Secretariat No.6 Karachi along with copy of N.I.T for favour of information & hoisting the same on the web site of Sindh Government (www.sindh.gov.pk) along-with CD
- 3. Copy submitted to the Managing Director, Sindh Public Procurement Regulatory Authority Planning & Development Department, Barrack No-8 Smah Secretariat No.4-A Court Road. Karachi along with copy of NIT for favour of information and hoisting the same on the web site along-with CD.
- Copy submitted to the Chief Engineer Buildings Department Government of Sindh Sukkur for favour of information
- 5. Copy submitted to the Project Director Access to Justice Programme High Court of Sindh Karachi for favour of his kind information.
- 6. Copy submitted to the Superintending Engineer Provincial Buildings Circle Sukkur for favour of information and approval.
- 7. Copy forwarded with compliments to the Executive Engineer Provincial Buildings Division Sukkur/Larkana for wide publicity
- 8. Copy forwarded to the Assistant Engineer Provincial buildings Sub-Division Nawabshah N.Feroze/Sanghar/Electrical Sub-Division Nawabshah They are directed to submit schedule-B within (10) days from the date of issue of N.I.T.

9. Copy to Concerned Assistant / Drafts Man / Notice Board

EXECUTIVE ENDINEER
PROVINCIAL BUILDINGS DIVISION
SHAHEED BENAZIR ABAD

NO: 7800

DATED: 09-08-16

WORKS & SERVICES DEPARTMENT

- Karachi dated the 24 - April, 2015

CORECTADOW

This Department's Notification dated 12-02-2014 regarding constitution of Exempental Committee of Provincial Buildings Division, Shaheed Benazirabad and with the approval of rempetent authority. Procurement Committee in terms of Rule-7 of Sindh Public Procurement Rules-2010, is analy to constitute for procurement of "Goods & Works" in the office of Executive Engineer, Provincial Engineer Shaheed Benazirabad, excluding procurement involving foreign exchange with the following composition.

Superintending Engineer, Provincial Buildings Circle, Sukkur

Chairman

Executive Engineer,
Provincial Buildings Division,
Shaheed Benazirabad.

Member

iii) Executive Engineer, LBOD Drainage Division, Shaheed Benazirabad.

Member

Other functions and responsibilities of the Committee shall remain the same.

SECRETARY TO GOVT, OF SINDH

No. E&A(W&S)3-9/91-2015

Karachi dated the Ah, April, 2015.

A copy is forwarded for information to:-

- 1. The Accountant General, Sindh, Karachi.
- 2. The Secretary to Govt. of Sindh, Irrigation Department, Karachi.
- 3. The Managing Director, SPPRA, Karachi.
- 4. The Chief Engineer (Buildings), Sukkur.
- 5. The Superintending Engineer, P.B.C. Sukkur.
- 6. The Chairman / Members of the Committee.
- 7. The Deputy Secretary (Tech) W&SD.
- 8. The Deputy Secretary (Admn), W&SD.
- 9. The Deputy Director, PM&E Cell, W&SD.
- 10. PS to Minister Works & Services Sindh, Karachi.
- 11. PS to Secretary Works & Services Department.
- 12. PA to Additional Secretary (Tech), W&SD.
- 13. Notification file.

SECTION OFFICER (GENERAL) 2414

OFFICE OF THE EXECUTIVE ENGINEER PROVINCIAL BUILDINGS DIVISION SHAHEED BENAZIR ABAD

(E-mail: xenpbd.nawabshah@gmail.com Fax: 0244-9370143)

NO. TC/ G-55 /

of 2016

Dated: 03 / 02 /2016

NOTIFICATION:-

In exercise of powers conferred by Rule-31 of Sindh Public Procurement (SPP) Rules 2010 the "Complaints Redressal Committee" is hereby constituted for Office of the Executive Engineer Provincial Buildings Division Shaheed Benazir Abad.

S.#	Name & Designation	
1.	Mr. Darya Khan Baloch Superintending Engineer Provincial Buildings Circle Sukkur.	Chairman
2.	Mr. Shamsuddin Ujjan Divisional Accounts Officer Provincial Buildings Division Shaheed Benazir Abad.	Member
3.	Mr. Muhammad Najeeb Akhter	Member

The committee shall act as per provision of Rule-31 (1) (2) (a) (b) (3) (4) (a) (b) (b) (c) and (5) of Sindh Public Procurement Rules 2010.

EXECUTIVE ENGINEER
PROVINCIALBUILDINGS DIVISION
SHAHEED BENAZIR ABAD

(a) Name of Procuring Agency:-	Executive Engineer Provincial Buildings Division Shaheed Benazir Abad.
(b) Brief Description of Works:-	Construction of 02-Courts Building @ Sakrand. District Shaheed Benazir Abad. (Main Building)
(c) Procuring Agency's Address:-	@ Highway Colony Nawabshah District S.B.A
(d) Estimated Cost:-	33,000,000 /-
(e) Amount of Bid Security:-	660,000/- 2% (fill in lump sum amount or in % age of bid amount/estimated cost, but not exceeding 5%)
(f) Period of Bid Validity (days):-	60 (days) (Not more than sixty days)
(g) Security Deposit (i/c bid security):-	1,980,000/- 6% (in % age of bid amount/estimated cost equal to 10%)
(h) Percentage, if any to be deducted fro	om bills:- 4%
(i) Deadline for submission of bids along	g with time:- 1.00 P.M
(j) Venue, Time, and date of Bid opening	:-Office Of XEN P.B.Division S.B.A@ Highway Colony Nawabshah @ 2.00 P.M. 26-02-2016.
(k) Time for Completion from written or	eder of Commence:- 24-Months
(L) Liquidity Damages :-	(0.05 of Estimated cost or Bid cost per day of delay, but total not exceeding 10%)
m) Deposit Receipt No:	
n) D.R No: & Date :- No:	Date: Amount Rs:
o) Rate Quoted by Contractor.	
Part-A (Schedule Items)	
Part-B (Non Schedule Items)	
(Executive Engineer/Auth	nority issuing bidding document)

Schedule-B

Name of Work:- Construction of 02-Courts Building@ Sakrand District Shaheed Benazir Abad (Main Building)

S. #	Name of Item	Qnty	Rate	Unit	Amount
	PART-A (Foundation / Plinth)				
1	Excavation in foundation of building bridges and other structure i/c degbelling dressing refilling arround the structure with excavated earth watering ramming lead upto one chain and lift upto 5' feet ordinary soil (SI No. 18 P/5)	40877	3176.25	%Cft	129,828
2	Cement Concrete brick or stone ballast 1 $1/2$ " thick to 2 guage 1:4:8 ratio (S.1 No. 4 (b) /P-14)	7025	9416.28	%Cft	661,494
3	Rein forcemeat cement concrete work i/wall lab our & material except cost of steel rein: & its lab our of bending & binding which will be paid separate This also i/c all kinds of forms moulds lifting shuttering curing rendering & finishing the exposed surface (i/c screening & washing of shingle) (a) R.C work in roof slab beams columns rafts lintels and other structure members laid in situ or precast laid in position complete in all respects ratio 1:2:4 90 lbs cement 2 cft sand 4 cft shingle 1/8" to 1/4" guage (S.N. 6 P-19)	16647	337	P.eft	5,610,039
4	Fabrication of mild steel reinforcement including cutting bending laying making joints in fastering including the cost of binding wire also removal of the rust from walls (S.1 No. 7(b) /P-20)	74530	5001.70	P-cwt	3,727,767
5	Pacca brick work in foundation plinth in cement sand mortor 1:6 (S.I No. 4 Page No. 24)	6027	11948.36	%Cft	720,128
6	Filling watering ramming surplus earth excavated from foundation lead upto one chain and lift upto 5' (S.I No. 21/P-5)	13624	1512.50	‰Cft	20,606
7	Filling watering ramming surplus earth excavated from foundation lead upto one chain and lift upto 5' (SN, 22 /P-4)	27477	3630	%0Cft	99,742
8	Filling watering ramming earth under floor with new earth excavated from outside lead upto one chain and lift upto 5' (S.I No. 22/P-4)	4931	1141.25	%Sft	56,275
9	Cement Concrete brick or stone ballast 1 1/2" thick to 2 guage 1:6:12 ratio (S.I No. 4(d)/P-14)	3287	8122.95	%Cft	267,001
				Total -	11,292,874
	PART-B (Ground Floor)				
1	Pacca brick work in Ground floor S/Stream cement sand mortor ratio 1:6 (S.I No. 5 (e) P-20)	7619	12674.36	%Cft	9 5 5,659
2	Rein forcemeat cement concrete work i/wall lab our & material except cost of steel rein: & its lab our of bending & binding which will be paid separate This also i/e all kinds of forms moulds lifting shuttering curing rendering & finishing the exposed surface (i/e screening & washing of shingle) (a) R.C work in roof slab beams columns rafts lintels and other structure members laid in situ or precast laid in position complete in all respects ratio 1:2:4 90 lbs cement 2 cft sand 4 cft shingle 1/8" to 1/4" guage (S.N. 6 P-19)	11635	337	P.eft	3,920,995
3	Fabrication of mild steel reinforcement including cutting bending laying making joints in fastering including the cost of binding wire also removal of the rust from walls (S.I No. 7(b) /P-20)	892.20	5001.70	P-cwt	4,462,516

S. #	Name of Item	Qnty	Rate	Unit	Amount
4		847	240.50	P.Rft	203,704
5	Providing and fixing G.I frames / chowkhats of size 7"x2" or 4-1/4"x3" for door using 20 guage G.I sheet I/c welded hinges and fixing at site with necessary hold fasts. Filling with cement sand slurry of ratio 1:6 and repairing the jambs. The cost also i/e all carriage tools and plans used in making and fixing (S.I No. 29/P-92)	978	228.90	P.Rft	223,864
()	Cement plaster 1:6" upto 20' height 1/2"thick (S.I No. 13(h)/P-51)	48356	2206.60	%Sft	1,067,023
7	Cement plaster 1:4 upto20' height 3/8"thick (S.1 No. 11(a)/P-51)	48356	2197.52	%Sft	1,062,633
8	Ist class deodar wood wrought joinery in doors & windows etc. fixed in position i/c chowkats hold fast hinges,iron, tower blts. Chocks cleats handels & cords with hooks, etc. Deodar Panelled or Panelled and glazed or fully glazed 1-3.4" thick (SI. No: 7 (b) P-57)	1906	902.93	P.Sft	1,720,985
()	Glavinized wire guaze fixed to chowkats with 3/4" deodar strips and screws (S.I No. 14 (d) /P-58)	799	190.72	P.Sft	152,385
10	Laying White Marble flooring fine dressed on the surface without winding set in lime 1.2 i/c rubboing and polishing of the joints (a) $3/4$ " thick flooring (S.1.No.28(a)P-43)	1728	567.48	P.Sft	98,605
11	Laying 3"/8" skirting dado marble (S.N 68- P-49)	240	186.04	%Sft	44,650
12	Laying floor of approved with glazed tile 1/4"laid in white cement and pigment on a hed of 3/4 thick cement mortor 1:2 complete (S.I.No.24 P-42).	404	27678.86	%Sft	111,823
13	White glazed tiles 1/4" thick dado jointed in cement and laid over 1:2 cement sand ratio 3/4" thick i/c finishing. (S.1.No.37 P-44).	780	28253.61	%Sft	220,377
14	P/L C.C topping 1" thick topping cement concrete (1.2.4 i/c surface finishing & dividing in to pannels © 2" thick (S.16 \odot P.41)	11077	3275.50	%Sft	362,827
15	Two coats of betumen hot using 24 LBS per coat and blended with sand at one squire P.Sft (S.I.No.13 P-40).	11077	1887.40	%Sft	209,067
16	S/F in position iron steel grill of $3/4x1/4$ size flat iron of approved design i/c painting 3 coats etc complete. (wt: not to be less than 3.7 Lbs / sq:ft: of finished grill (S.N 26 P-92)	1237	180.50	P.Sft	223279
17	Primary coat of chalk under distempering. (SI, No: 23 P-53)	9944	442.75	%Sft	44,027
18	Distempering on walls 2 coats. (S.N. 24 (h) P.53.)	9944	1043.90	%Sft	103,805
19	P/S painting with matt finish i/c rubbing the surface with bathy (silicon carbode rubbing brick) fillling the voids with zink/chalk/plaster of paris mixture applying 1st coat of premix making the surface smooth and then painting 3 coat with finish of approved make etc complete New surface. (S.N., 36 P-54)	33849	2717	%Sft	919,677
20	Prepairing the surface and painting with weather coat i/e rubbing the surface with rubbing brick sand paper filling the voids with chalk plasters of paris and then painting with weather coat of app: make (New Surface) (S.N. 38 P-55).	14507	2567.95	%Sft	372,532

S. #	Name of Item	Qnty	Rate	Unit	Amount
21	Painting door & windows 3 coats (S.I No. 4 © /P-67)	3812	2116.41	%Sft	80,678
22	1-1/2" thick deodar wood framing i/c wire guaze with ordinary hinges (S.I No. 14 (b) /P-67)	112	562.98	%Sft	63,054
23	Painting old surface painting Guard bars graiting railing braves (etc) & similar open work 3.coats (New surface) (S.1 No. 5 (d) /P-67)	935	1270.83	%Sft	11,882
24	P/F R.C.C Spouts i/c fixing in position (S.N 27 P/19)	10-Nos	261.25	Each	2613
				Total —	16,706,658
	PART-C (Judicial Lock-Up)				
]	Excavation in foundation of building bridges and other structure i/c degbelling dressing refilling arround the structure with excavated earth watering ramming lead upto one chain and lift upto 5' feet ordinary soil (SI No. 18 P/5)	2401	3176.25	%Cft	7,626
2	Cement Concrete brick or stone ballast 1 1/2" thick to 2 guage 1:4:8 ratio (S.I No. 4 (b) /P-14)	721	9416.28	%Cft	67,891
3	Pacca brick work in foundation plinth in cement sand mortor 1:6 (S.I No. 4 Page No. 24)	1910	11948.36	%Cft	228,214
	Rein forcemeat cement concrete work i/wall lab our & material except cost of steel rein: & its lab our of bending & binding which will be paid separate This also i/c all kinds of forms moulds lifting shuttering curing rendering & finishing the exposed surface (i/c screening & washing of shingle) (a) R.C work in roof slab beams columns rafts lintels and other structure members laid in situ or precast laid in position complete in all respects ratio 1:2:4 90 lbs cement 2 cft sand 4 cft shingle 1/8" to 1/4" guage (S.N. 6 P-19)	1057	337	P.cft	356,209
	Fabrication of mild steel reinforcement including cutting bending laying making joints in fastering including the cost of binding wire also removal of the rust from walls (S.I No. 7(b) /P-20)	63.42	5001.70	P-cwt	317,208
	Filling watering ramming surplus earth excavated from foundation lead upto one chain and lift upto 5' (S.I No. 21/P-5)	1601	1512.50	%oCft	2,422
	Filling watering ramming surplus earth excavated from foundation lead upto one chain and lift upto 5' (SN. 22 /P-4)	3162	3630	%0Cft	11,479
	Filling watering ramming earth under floor with new earth excavated from outside lead upto one chain and lift upto 5' (S.I No. 22/P-4)	729	1141.25	%Sft	8,320
	Cement Concrete brick or stone ballast 1 1/2" thick to 2 guage 1:6:12 ratio (S.I No. 4(d)/P-14)	486	8122.95	%Cft	39,478
	Pacca brick work in Ground floor S/Stream cement sand mortor ratio 1:6 (S.I No. 5 (e) P-20)	2921	12674.36	%Cft	370,218
	Pacca brick work in other than building in cement sand mortor ratio 1:6 (S.I No. 7 Page No. 26)	474	12346.65	%cft	58,523
	Providing and fixing G.I frames / chowkhats of size 7"x2" or 4-1/4"x3" for door using 20 guage G.I sheet I/c welded hinges and fixing at site with necessary hold fasts. Filling with cement sand slurry of ratio 1:6 and repairing the jambs. The cost also i/c all carriage tools and plans used in making and fixing (S.I No. 29/P-92)	88	228.90	P.Rft	20,143

S. #	Name of Item	Qnty	Rate	Unit	Amount
	Providing and fixing G.I frames / chowkhats of size 7"x2" or 4-1/4"x3" for door using 20 guage G.I sheet I/c welded hinges and fixing at site with necessary hold fasts. Filling with cement sand slurry of ratio 1:6 and repairing the jambs. The cost also i/c all carriage tools and plans used in making and fixing (S.I No. 28/P-98)	31	240.50	P.Rft	7,456
14	Ist class deodar wood wrought joinery in doors & windows etc. fixed in position i/c chowkats hold fast hinges.iron, tower blts. Chocks cleats handels & cords with hooks, etc. Deodar Panelled or Panelled and glazed or fully glazed 1-3.4" thick (SI, No: 7 (b) P-57)	122	902.93	P.Sft	110,157
15	S/F specials heavy stell door for lockup with angel iron frame of 2-1/2" x 2-1/2"x3/8" size & shutter of $2x2x3/8$ " with 1"+M.S bras placed (Sl. No: 29 P-93)	133	930.76	P.Sft	123,791
16	Cement plaster 1:6" upto 20' height 1/2"thick (S.I No. 13(b)/P-51)	8700	2206.60	%Sft	191,974
17	Cement plaster 1:4 upto20' height 3/8"thick (S.I No. 11(a)/P-51)	8700	2197.52	%Sft	191,184
18	P/L C.C topping 1" thick topping cement concrete (1.2.4 i/c surface finishing & dividing in to pannels © 2" thick (S.16 \odot P.41)	3693	3275.50	%Sft	120,964
19	Two coats of betumen hot using 24 LBS per coat and blended with sand at one squire P.Sft (S.I.No.13 P-40).	1413	1887.40	%Sft	26,669
20	Cement plaster 1.4 upto 20' height 3/4" thick (S.N. 11 (e) P-51)	503	3015.76	%Sft	15,169
21	Glavinized wire guaze fixed to chowkats with 3/4" deodar strips and screws (S.I No. 14 (d) /P-58)	37	190.72	P.Sft	7,057
22	White wash on walls any type three Coats. (SI, No: 26 © P-53)	1411	829.95	%Sft	11,711
23	Primary coat of chalk under distempering. (Sl, No: 23 P-53)	9203	442.75	%Sft	40,746
24	Distempering of walls any type 3 coats (S.I No. 24 © /P-53)	9203	1079.65	%Sft	99,360
25	Painting door & windows 3 coats (S.I No. 4 © /P-67)	244	2116.41	%Sft	5,164
26	Painting old surface painting Guard bars graiting railing braves (etc) & similar open work 3.coats (New surface) (S.1 No. 5 (d) /P-67)	133	1270.83	%Sft	1,690
27	Painting old surface painting Guard bars graiting railing braves (etc) & similar open work 3.coats (New surface) (S.I No. 5 (d) /P-67)	37	1270.83	%Sft	470
28	P/F R.C.C Spouts i/c fixing in position (S.N 27 P/19)	04-Nos	261.25	Each	1045
				Total	2,442,356

CONTRACTOR

Executive Engineer,
Provincial Buildings Division
Shaheed Benazir Abad

(a) Name of Procuring Agency:-	Executive Engineer Provincial Buildings Division Shaheed Benazir Abad.
(b) Brief Description of Works:-	M/R to Anti-Terrorist Court Shaheed Benazir Abad. (Civil Work)
(c) Procuring Agency's Address:-	@ Highway Colony Nawabshah District S.B.A
(d) Estimated Cost:-	1,310,000 /-
(e) Amount of Bid Security:-	26,200/- 2% (fill in lump sum amount or in % age of bid amount/estimated cost, but not exceeding 5%)
(f) Period of Bid Validity (days):-	60 (days) (Not more than sixty days)
(g) Security Deposit (i/c bid security):-	78.600/- 6% (in % age of bid amount/estimated cost equal to 10%)
(h) Percentage, if any to be deducted from	n bills:- <u>4%</u>
(i) Deadline for submission of bids along	with time:- <u>1.00 P.M</u>
(j) Venue, Time, and date of Bid opening:	Office Of XEN P.B.Division S.B.A@ Highway Colony Nawabshah @ 2.00 P.M. 26-02-2016.
(k) Time for Completion from written ord	er of Commence:- <u>03-Months</u>
(L) Liquidity Damages :-	(0.05 of Estimated cost or Bid cost per day of delay, but total not exceeding 10%)
(m) Deposit Receipt No:	
(n) D.R No: & Date :- No:	Date: Amount Rs:
(o) Rate Quoted by Contractor.	
Part-A (Schedule Items)	
Part-B (Non Schedule Items)	
(Executive Engineer/Autho	ority issuing bidding document)

Schedule-B Name of Work:- M/R to Anti-Terrorist Court Shaheed Benazir Abad.(Civil Work)

S. #	Name of Item	Qnty	Rate	Unit	Amount
	PART-A (Civil Work)				
1	Dismentling cement concrete plain 1.2.4 (S.N. 19 (c) P-10)	150	3327.50	%Cft	4,991
2	Pacca brick work in foundation plinth in cement sand mortor 1:6 (S.1 No. 4 Page No. 24)	26	11948.36	%Cft	3,107
3	Pacca brick work in Ground floor in cement sand mortor ratio 1:6 (S5 P-21)	148	13227.41	%Cfì	18,758
4	Fabrication of mild steel reinforcement including cutting bending laying making joints in fastering including the cost of binding wire also removal of the rust from walls (S.I No. 7(b) /P-20)	8.50	5001.70	P-cwt	42,514
5	Rein forcemeat cement concrete work i/wall lab our & material except cost of steel rein: & its lab our of bending & binding which will be paid separate This also i/c all kinds of forms moulds lifting shuttering curing rendering & finishing the exposed surface (i/c screening & washing of shingle) (a) R.C work in roof slab beams columns rafts lintels and other structure members laid in situ or precast laid in position complete in all respects ratio 1:2:4 90 lbs cement 2 cft sand 4 cft shingle 1/8" to 1/4" guage (S.N. 6 P-19)	159	337	P.cft	53,583
6	Removing cement or lime plaster. (S.N. 53 P-13)	1871	121	%Sft	2,264
7	Cement plaster 1.4 upto 20' height 3/4" thick (S.N. 11 (c) P-51)	1871	3015.76	%Sft	56,425
8	P/L C.C topping 1" thick topping cement concrete (1.2.4 i/c surface finishing & dividing in to pannels © 2" thick (S.16 © P.41) 2" thick 3" thick	995 80	3275.50 4411.82	%Sft %Sft	32,591 3,529
9	Cement plaster 1:6" upto 20' height 1/2"thick (S.I No. 13(b)/P-51)	319	2206.60	%Sft	7,039
10	Cement plaster 1:4 upto20' height 3/8"thick (S.I No. 11(a)/P-51)	319	2197.52	%Sft	7,010
11	Laying floor of approved coloured glazed tile 1/4"laid in white cement and pigment on a bed of 3/4 thick cement mortor 1:2. (S.N., 25 ., P-42)	2266	27747.06	%Sft	628,748
12	Glazed tile dado 1/4" thick laid in pigment over 1:2 cement sand mortor 3/4" thick i/c finishing. (S.N., 38 ., P-44)	485	28299.30	%Sft	137,252
13	Damp roof course with (cement sand and shingle concrete 1.2.4 i/c 2 coats od asphalt mixture 3/4 thick. (S.N. 69 (b) P-106)	196	2401.58	%Sft	4,707
14	lst class deodar wood wrought joinery in doors & windows etc. fixed in position i/c chowkats hold fast hinges, iron, tower blts. Chocks cleats handels & cords with hooks, etc. Deodar Panelled or Panelled and glazed or fully glazed 1-3.4" thick (SI, No: 7 (b) P-57)	149.71	902.93	P.Sft	135,178
15	P/F Almunium sheet on doors pasted with glue as per requirement	220	63.77	%Sft	14,029
16	Glavinized wire guaze fixed to chowkats with 3/4" deodar strips and screws (S.I No. 14 (d) /P-58)	135	190.72	P.Sft	10,299
17	P/F Sliding bolt to doors iron sliding bolts 12" long (S.N. 19 (a) P-60)	10	222.23	%Sft	2,222
18	Glazing with panes (160z to 18) using deodar wooden (1st class) fillters and putty (S.I.No.45 (b) P-63).	113	142.90	%Sft	16,148
				Total —	1,198,206

S. #	Name of Item	Qnty	Rate	Unit	Amount
-	PART-B (External Drainage)				
1	Excavation for pipe line trenches and pits in soft soils i/c trimming and dressing sides to true alignment and shapes levelling of beds of trenches to correct level and grade cutting joint holes and disposal of surpulus earth within a one chain as directed by Engineer Incharge providing fance gurade light flags and temporary crossing for non veh: trrafic where ever req: lift upto 5'ft (1.5m) and lead upto one chain (30.5mm) (P.H.S.1 P/46)	405	3600	%0Cft	1450
2	P/L RCC pipes & collars of class "C" and fixing in trenches i/c cutting fitting and jointing with maxphalet compostion and cemetn mortor (1:1) i/c testing with water to a head of 45 meter or 150'ft ((S.I No. 3(a)/P-16)	270	194	P.Rft	52,380
3	Construction of main hole of inspection chamber for the required dia of circular sewer and 3"-6" (1067 mm) depth with wall of B.B in cement mortor 1:3 1/2" thick is side of walls and 1" (25 mm) this over benching and channel i/c fixing C.I main hole cover with frame of clear opening 1-1/2"x1-1/2" (457x457 mm) of 1.75 cwt (88.9 kg) embedded in plain C.C 1:2:4 and fixing 1" (25 mm) M.S.steps 6" (150mm) wide projecting 4" (102mm) from the face of wall at 12" (305mm) C/C duly painted etc compl: as per specification an drawing No.D.P/1 of public health circle southern zone. (S.N. 1 P.39) (P.H.S)	8-Nos	2524.25	Each	20,194
4	Refilling the excavated stuff in trenches 6"thick layer i/c watering remaining to full compaction etc complete. (PH S.N. 24 / P-47)	405	2760	%0Cft	100
				Total -	74,124

CONTRACTOR

Executive Engineer, Provincial Buildings Division Shaheed Benazir Abad

(a) Name of Procuring Agency:-	Executive Engine Division Shaheed		Buildings
(b) Brief Description of Works:-	Renovation of An Buildings at N.Fe		
(c) Procuring Agency's Address:-	@ Highway Colon	y Nawabshah Dist	trict S.B.A
(d) Estimated Cost:-		8,000,000 /-	
(e) Amount of Bid Security:-	160,000/- 2% (fil % age of b but not exceeding	id amount/estim	
(f) Period of Bid Validity (days):-	<u>60 (days)</u> (Not more than six	ty days)
(g) Security Deposit (i/c bid security):-	480,000/- 6% (in ocost equal to 10%)	•	int/estimated
(h) Percentage, if any to be deducted from	n bills:-	<u>4%</u>	
(i) Deadline for submission of bids along	with time:-	1.00 P.M	
(j) Venue, Time, and date of Bid opening:	-Office Of XEN P Colony Nawabsha		
(k) Time for Completion from written ord	ler of Commence:-	03-Months	
(L) Liquidity Damages :-	_ `	d cost or Bid cost pot exceeding 10%)	•
(m) Deposit Receipt No:			
(n) D.R No: & Date :- No:	_ Date:	_ Amount Rs:	
(o) Rate Quoted by Contractor.			
Part-A (Schedule Items)			
Part-B (Non Schedule Items)			
(Executive Engineer/Auth	ority issuing bidding	g document)	

Schedule-B

Name Of Work : Renovation of Anti-terrorism Court (ATC) Buildings at Naushahro feroze (Main Building)

	(IVIAI	n Building)		
S#	ITEM OF WORK	QTY	RATE	UNIT	AMOUNT
1	Dismenteling of cement conrete	2321	3327.5	P%Sft	77231
2	Scraping ordinary Distemper or oil bound distemper or paint on walls	22790	226.88	P%Sft	51706
3	Removing of doors and windows	24	142.18	Each	3412
4	Removing of cement or lime plaster	894.75	121	P%Sft	1083
5	Applying floating coat of cement 1/32	894.75	660	P%Sft	5905
6	Cement plaster 3/4' Thick up to 12' height	894.75	3015.76	P%Sft	26984
7	Cement concrete brick or stone ballast 1-1/2 to 2 gauge ratio 1:5:10	2900	8694.95	P%Cft	252154
8	P/Laying CC Plan i/c compacting finfishing and curing etc complete	1450	14429.25	P%Sft	209224
9	Laying floor of approved with glazed tile 1/4" thick in whte cement 1;2 over 3/4" thick cement morter 1:2 complete	8787	27678.86	P%Sft	2432141
10	White Glazed tiles 1/4" thick dado jointed in white cement and laid over 1:2 cement morter 3/4" thick i/c finishing	4988	28253.61	P%Sft	1409290
11	P/F Cement Paving blocks flooring having size of 197x97x80 mm 0f city /cobble shape with natural columns having strength b/w 5000 psi to 8500 psi	5680	223.97	P.Sft	1272150
12	P/F G.I frame chokts of size 7x2" 4-1/2x3"for door using 20 guage G.I sheet i/c elded hinges and fixing at site with necessary holds fasts filling with cement	138	228.9	PRft	31588

S#	ITEM OF WORK	QTY	RATE	UNIT	AMOUNT
13	Fixing of doors i/c chowkats s:i:no:44 (a) P-62	24	279.51	Each	6708
14	Distempering of walls any type two coats (old surface)	45581	1043.90	P%Sft	475820
15	Preparing surface and painting on doors and windows any type i/c edges.	3288	1160	P%Sft	38141
16	painting guard bars gates iron bars grating railing i/c standard bracess etc complete with similar open work.	626	674.6	P%Sft	4223
17	suplying and fixing flase ceiling of plaster of paris in pannels i/c making of frame work of deodar wood i/ c painting with soligia paint.	2366	25293.42	P%Sft	598442
18	supplying and fixing in position aluminium channels framing for hinged doors or Alcop made with 5mm thick tined glass glazing belgium and alpa japan locks in handles stoppers etc complete.	220	1507.66	P%Sft	331685
19	Aluminium chanels framing of slidding windows & ventilators or Alcop made with 5mm thick tinted glass glazing (Belgium) & Aluminium fly screen i/c handles stoppers & locking arrangements etc completre.deluxed mode	144	1647.69	P%Sft	237267
20	First class deoldar wood wrought joinary in doors and indows etc fixed in position i/c chowkts holds fasts hinges at site with iron tower bolts cleats chocks cleats hndles and cords with hook etc complete.	134	902.93	P.Sft	120993
21	(d) glavinized wire gauze fixed to chowkts with wire guage 3/4"thick deodar strips and screws	54	190.72	P.Sft	10299

S#	ITEM OF WORK	QTY	RATE	UNIT	AMOUNT
22	supplying and fixing in position iron / steel grill of 3/4" x1/4" size flat iron of aproved de i/c painting 3 coats etc complete (weight no less than 3.7 Lbs/sq.foot of finikshed grill.	0	180.5	P.Sft	5415
23	Pacca brick work in ground floor in (e) cement sand mortor	21	12674.36	P%Cft	2662
24	cement plaster 1:6 upto 12" height 1/2" thick	56	2206.6	P%Sft	1236
25	cement plaster 1:4 upto 12" height 3/8" thick	56	2197.52	P%Sft	1231
	Total				7606979

Contractor

Executive Engineer Provincial Buildings Division Shaheed Benazir Abad

(a) Name of Procuring Agency:-	Executive Engineer Provincial Buildings Division Shaheed Benazir Abad.
(b) Brief Description of Works:-	Renovation of Anti-Terrorism Court (ATC) Buildings at N.Feroze (Custody Room)
(c) Procuring Agency's Address:-	@ Highway Colony Nawabshah District S.B.A
(d) Estimated Cost:-	1,700,000 /-
(e) Amount of Bid Security:-	34,000/- 2% (fill in lump sum amount or in % age of bid amount/estimated cost, but not exceeding 5%)
(f) Period of Bid Validity (days):-	60 (days) (Not more than sixty days)
(g) Security Deposit (i/c bid security):-	102,000/- 6% (in % age of bid amount/estimated cost equal to 10%)
(h) Percentage, if any to be deducted from	om bills:- <u>4%</u>
(i) Deadline for submission of bids along	g with time:- 1.00 P.M
(j) Venue, Time, and date of Bid opening	g:-Office Of XEN P.B.Division S.B.A@ Highway Colony Nawabshah @ 2.00 P.M. 26-02-2016.
(k) Time for Completion from written or	rder of Commence:- <u>03-Months</u>
(L) Liquidity Damages :-	(0.05 of Estimated cost or Bid cost per day of delay, but total not exceeding 10%)
(m) Deposit Receipt No:	
(n) D.R No: & Date :- No:	Date: Amount Rs:
(o) Rate Quoted by Contractor.	
Part-A (Schedule Items)	
Part-B (Non Schedule Items)	
(Executive Engineer/Aut	hority issuing bidding document)

SCHEDULE-B

Name of work: Renovation of ATC Court at Naushahro Feroze (Coustady Room)

S.No	Item of exeution	Quantity	Rate	Unit	Amount
1	Excavation of foundation, building bridges and other structures including dages belling. and dressing, refilling around the structure with excavated earth	489	3176.25	P%0Cft	1553
2	Cement Concrete Brick or stone blast guage 1'1/2 into 2' guage in ration 1:4:8	163	9416.28	P%Cft	15349
3	Pacca Brick work in foundation including sticking the joints in cement sand ratio 1:6	826	11948.36	P%Cft	98693
4	Fabrication of Mild Steel reinforcement for cement concrete including cutting, bending laying in position, making joints and fastenings including cost of binding wire (alsoincludes removal of rust from bars.)	39.45	5001.7	P.Cwt	197317
5	RCC Work in Roof Slabs Column Beams Raft, Lantels and other structural members laid in situ or precast laid in position complete in all respect ration 1:2:4 90 lbs cement 2cft sand 4cft shingle 1/8 to 1/4	1320	337	Pcft	444840
6	Filling W/R earth under floor with new earth excavated outside extra lead 6 mile. (R.A)	1670	11349	P%0Cft	18953
7	Cement Concete Stone or brick blast guage 1:1/2 to 2" in ration 1:5:10	206	8694.95	P%Cft	17912
8	Pacca Brick work in ground floor in cement sand ratio 1:6	2561	12674.36	P%Cft	324590
9	Cement Plaster 1:2" thick upto 12ft height in cement sand ratio 1:6	3036	2206.6	P%sft	66992
10	Cement Plaster 3/8 thick upto 12ft height in cement sand ratio 1:4	3036	2197.52	P%sft	66717
11	Providing and laying CC topping 1:1/2' thick cement concrete 1:2:4 including surface finishing and divinding into pannels. A) 2" thick B) 1:1/2' thick	621 942	3275.5 2548.29	P%sft P%sft	20341 24005
12	Providing Iron griders (8x4')	2.01	3850	cwt	7739
13	Providing T-Iron (2x1/2)	7.73	3575	cwt	27635
14	Supplying and fixing special heavy type steel doors for lock-ups with angle iron frame of 2x 1/2" to 2x1/2x3/8 size and shutter of 2x2x3/8' thick 1' dia meter M.S bars placed at 4' center to center with separate locking box having size of 12'x12' of M.S steel sheet embeded in masonary with proper locking arrangement as per approved design including cost of erection of steel gate and fixing in masonary wall in . CC (1:2:4) etc complete	45	930.76	P%sft	41884

S.No	Item of exeution	Quantity	Rate	Unit	Amount
15	P/Fixing G.I frame /Chowkats of size 7"x2" or 4-1/2"x3" for Doors using 20 gauge G.I sheet I/C welded Hings and fixing at site with necessary hold fast filling with cement sand slurry ratio 1:5 and repairing the jambs.	51	228.9	PRft	11674
16	P/Fixing G.I frame /Chowkats of size 7"x2" or 4-1/2"x3" for Doors using 20 gauge G.I sheet I/C welded Hings and fixing at site with necessary hold fast filling with cement sand slurry ratio 1:5 and repairing the jambs.	5.34	240	PRft	1282
17	Laying floor of approved with glazed tile 1/4" thick in white cement 1:2 over 3/4" thick cement mortor 1:2	25	27678.86	P%sft	6920
18	White glazed tile 1/4" thick dado jointing in white cement laidover 1:2 cement sand mortor 3/4" thick i/c finishing	53	28299.3	P%sft	14999
19	1st class deodar wood wraught joinery in D/W etc fixed in position i/c chowkats hold fast iron tower bolts chocks cleats handles and chords with hooks etc Deodar pannalled and glazed or fully glazed 1-3/4"thick	45	902.93	Psft	40632
21	Primery Coat of chalk under Distempering	3036	442.75	P%sft	13442
22	Distempering on walls 3 coats (new surface)	3036	1079.65	P%sft	32778
23	prepairing surface and painting of door and windows any type i/c edges	63	2116.41	P%sft	1333
24	prepairing surface and painting on guard bars gates railing i/c standerd braces etc	45	674.6	P%sft	304

TOTAL RS: 1497869/-

Contractor

Executive Engineer Provincial Buildings Division Shaheed Benazir Abad

(This section should be filled in by the Engineer/Procuring Agency before Issuance of the Bidding Documents) Executive Engineer Provincial Buildings (a) Name of Procuring Agency:-Division Shaheed Benazir Abad. Renovation of Anti-Terrorism Court (ATC) (b) Brief Description of Works:-Buildings at N.Feroze. (Compound Wall & Steel Gate) @ Highway Colony Nawabshah District S.B.A (c) Procuring Agency's Address:-2,370,000 /-(d) Estimated Cost:-(e) Amount of Bid Security:-47.400/- 2% (fill in lump sum amount or in % age of bid amount/estimated cost, but not exceeding 5%) 60 (days) (Not more than sixty days) (f) Period of Bid Validity (days):-142,200/- 6% (in % age of bid amount/estimated (g) Security Deposit (i/c bid security):cost equal to 10%) (h) Percentage, if any to be deducted from bills:-4% (i) Deadline for submission of bids along with time:-1.00 P.M (j) Venue, Time, and date of Bid opening:-Office Of XEN P.B.Division S.B.A@ Highway Colony Nawabshah @ 2.00 P.M. 26-02-2016. (k) Time for Completion from written order of Commence: 03-Months (L) Liquidity Damages:- _____(0.05 of Estimated cost or Bid cost per day of delay, but total not exceeding 10%) (m) Deposit Receipt No: (n) **D.R No: & Date**: _____ Amount Rs: _____ (o) Rate Quoted by Contractor. Part-A (Schedule Items) Part-B (Non Schedule Items) (Executive Engineer/Authority issuing bidding document)

SCHEDULE-B

Name of work:- Renovation of Anti-Terrorism Court (ATC) at Naushahro-Feroze (Constt: of Compound Wall & Steel Gate).

S#	ITEM OF WORK	QTY	RATE	UNIT	AMOUNT
1	Dismenteling of P.B.Work in cement Plaster	270	1285.63	P%cft	3471.201
2	Excavation in foundation of building bridges i/c dag belling dressing and refilling around the structure with excavated earth atering and ramming lead upto one chain and lift upto 5"ftordinary soil.	2531	3176.25	P%0Cft	8039.08875
3	Cement concrete brick or stone ballast 1 1/2" thick to 2" guage ratio 1:4:8	804	9416.28	P%Sft	75706.8912
4	Fab: of mild steel renif, for c.c i/c cuiting bending and binding and laying in position making of joints & fastesting i/c cost of binding wire also i/c removal of rust from bars.	63.5	5001.7	P.Cwt	317607.95
5	R.C.C work in roof slab bneams coloums raft lintels ansd other structural member laid in situ or laid in poosition complete in all respects ratio 1:2:4 90 Lbs cement 2Cft sand 4Cft shingle concrete 1/8"to 1/4" guage.	1723	337	P.Cft	580651
6	Pacca brick work in foundation and plinth in cement sand mortor 1:6	1310	11948	P%Sft	156518.8
7	Pacca brick work otherthan building i/c stricking of joints ratio 1:6	1491	12346.65	P.Sft	184088.5515
8	Cement plaster 1/2" thick upto 12" height (1:6).	2342	2206.6	P%Sft	51678.572
9	Cement plaster 3/8"thick upto 12" height (1:4)	2342	2195.5	P%Sft	51418.61
10	Cement pointing struck joints in 1:3 ratio	1988	1213.58		24125.9704

S#	ITEM OF WORK	QTY	RATE	UNIT	AMOUNT
11	P/F Angle iron vertical plasts for barbed wire fencing of size 2x2x1/4"embaded in R.C.C masanory and filling the cement sand mortor spraining & finishing.	295	169.18	P.Rft	49908.1
12	P/F barbed wire fencing with 12"guage pointa apart barbed wire i/c iron vertical	1952	8.38	P.Rft	16357.76
13	Primery coat of chalk	2342	829.95	P%Sft	19437.429
14	Distempering	2342	1043.9	P%Sft	24448.138
15	M/F Steel grated doors	192	726.72		139530.24
16	Preparing surface painting on grated guard bars	384	896.39		344213.76
17	P/L Hala Tile or pattern glazed tile 6"x6"x1/4" on floor	216	47651.56	P%Sft	102927.3696
	Total				2150129.4

Contractor

Executive Engineer
Provincial Buildings Division
Shaheed Benazir Abad

OFFICE OF THE EXECUTIVE ENGINEER PROVINCIAL BUILDINGS DIVISION SHAHEED BENAZIR ABAD ANNUAL PROCUREMENT PLAN 201516 (REVISED) (WORKS, GOODS & SERVICES)

F	
	S.#
	Description of Procurement
	Quantity (where applicable)
	Estimated Unit Estimated Funds cost (Where total cost (in allocated for applicable) million) 2015-16
	Estimated total cost (in million)
	Funds allocated for 2015-16
ADP)	Source of Funds (ADP/Non-
	Proposed Procurement
July-Sep 2015 Oct-Dec 2015 Jan-Mar 2016	Timing for Procurement Ist Qu: from 2nd Ot: from 3nd Ot: from

Construction of 2-Courts Buildings at

Various Items

32.796

5.00

Prov: ADP No. 914

Single stage one envelope

Yes

ļ

Executive Engineer

Provincial Buildings Division

Shaheed Behazir Abad

ANNUAL PROCUREMENT PLAN

(WORKS, GOODS & SERVICES)

FINANCIAL YEAR 2015-16

		Sear brion of 1 foculement	Description of Droguesant	
	applicable)	Cost (where	באוווומונע טווו	Estimated Unit
	1803 18303	total asst	Estimated	
	Affocated		Funde	
	(ADP / Non ADP)	Source of Fullus	Source of Edo	
intentod	Mathod	Procurement	Proposed	
1	1st Otr		lım	3
	2nd Otr 3rd Otr 4th Otr		luming of Procurements	
\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	4th Otr			

2 M/R to Ant-Terrorist Court Shaheed Benazir Abad. (Civil Work)	 Repair & Renovation of Ant-Terrorist Court Naushahro Feroze. i) Main Building ii) Custody Room ii) Compound Wall & Steel Gate
1.310 (M)	8.000 (M) 1.700 (M) 2.370 (M)
1.310 (M)	8.000 (M) 1.700 (M) 2.370 (M)
2.320 (M)	14.5460 (M)
Government of Sindh (Non ADP)	Government of Sindh (Non ADP)
Single Stage Method	Single Stage Method
03-Month	03-Month 03-Month 03-Month
1	1 1 1
1	1 1 1
1	1 1

EXECUTIVE ENGINEER

PROVINCIAL BUILDINGS DIVISION
SHAHEED BENAZIR ABAD